
CE-1901-11 - Dr. Durant - Quiz 3 

Winter 2016-'17, Week 3 

1. (2 points) On the diagram below, illustrate values of VoH, V1H, VoL, and V1L that would allow logic 1
to be transmitted correctly but where logic O might not be transmitted correctly even when
there is no noise.
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2. (2 points) State and explain why either a (relatively) positive or �ve1:harge must be

present at the gate of an PMOS transistor (specifically, a p-chann�cement mode MOSFET
[metal-oxide-semiconductor field-effect transistor]) in order for current to be allowed to flow

between the drain and the source.
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3. (3 points) Draw the gate diagram for X = (AB) EB (C' + D).
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4. (3 points) Complete the truth table for the above function, including all intermediate terms. Be
sure to clearly label all terms (some columns are labeled to get you started; you might not need

all columns).
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CE-1901-12 - Dr. Durant - Quiz 3 

Winter 2016-'17, Week 3 

1. (2 points) On the diagram below, illustrate values of VoH, V1H, Vm, and V1L that would enable
proper operation.
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2. (2 points) State and explain why either a (relatively) positive or�arge must be
present at the gate of an NMOS transistor (specifically, an n-channel enhancement mode
MOSFET [metal-oxide-semiconductor field-effect transistor]) in order for current to be blocked

("cutoff') between the drain and the source.
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3. (3 points) Draw the gate diagram for X =(A+ B') (C E9 D).

4. (3 points) Complete the truth table for the above function, including all intermediate terms. Be

sure to clearly label all terms (some columns are labeled to get you started; you might not need

all columns) .
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